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Reducer(Eccentric) both end Ferrule,”Reducer(Eccentric) both end Ferrle
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Type RDC-2C
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ANb=IWRDL Y a—Y
Type RDE-2C

Reducer (Concentric) both end Ferrule

Reducer (Eccentric)both end Ferrule
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eSS =l B Concentric | Eccentric HEEBLS
% 1.255%1.08 29.4 23 45 105.5 0.15
% 155%1.08 35.7 23 45 110 0.19
% 155x1258| 357 294 45 105.5 0.14
% 205x108 | 478 23 45 110 0.24
% 20Sx1255| 478 29.4 45 105.5 0.19
% 20Sx15S | 478 357 45 110 0.17
255x1.08 59.5 23 110 110 0.38
255x1.255 | 595 294 | 1055 | 1055 0.36
255x1.58 595 357 | 110 110 03
255x2,08 595 478 | 110 110 0.35
3.05x 158 72.3 357 | 110 110 0.46
3.05x2.08 72.3 478 | 110 110 0.39
3.05x2.55 72.3 595 | 110 110 041
3.55x2,08 85.1 478 | 110 110 055
3.55x2.55 85.1 595 | 110 110 053
3.55x3.08 85.1 723 | 110 110 0.54
4.08%x2.08 97.6 478 | 1515 | 1515 0.81
*Option ~ 4.05x258 976 595 | 1515 | 1515 0.84
fiﬁ[}‘_'ﬁ;;f_tf%%)j) 408x305 | 976 | 723 |1515 | 1515 | o095
Type RDL-2C 4.08x358 97.6 85.1 151.5 151.6 0.81
A=y a—by Reducer (Concentric) both end Ferrule
Type RDC-2C
ANb=IURDL Y a—Y Reducer (Eccentric)both end Ferrule
Type RDE-2C
Nom.size ID1 D2 L1 L2 Mass kg
10AX8A 14 105 45 721 0.08
Lz 15AX8A 175 105 45 721 0.08
i 1BAX10A| 175 14 45 72.1 0.07
\w 1.08X8A 23 105 45 76.6 0.14
. Ti\\\ﬁT 105x10A| 23 14 45 76.6 0.13
ID1 " Mip2 | 1.08x16A| 23 175 45 76.6 012
P 155 x8A 35.7 105 45 76.6 012
o 155x10A| 357 14 45 76.6 011
%IART SUS316L
Alsusaiol | 1.68x1BA| 357 175 45 76.6 011
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